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𝛀 = ∫ (
𝐭𝐚𝐧−𝟏 𝒙

𝒙 − 𝐭𝐚𝐧−𝟏 𝒙
)

𝟐√𝟑

𝟏

𝒅𝒙 

Proposed by Daniel Sitaru – Romania  

Solution 1 by Yen Tung Chung-Taiwan 

∫ (
𝐭𝐚𝐧−𝟏 𝒙

𝒙 − 𝐭𝐚𝐧−𝟏 𝒙
)

𝟐√𝟑

𝟏

𝒅𝒙
⏟              

𝒍𝒆𝒕 𝒚=𝐭𝐚𝐧−𝟏 𝒙⇒𝒙=𝐭𝐚𝐧 𝒚,𝒅𝒙=𝐬𝐞𝐜𝟐 𝒚𝒅𝒚

= ∫ (
𝒚

𝐭𝐚𝐧𝒚 − 𝒚
)
𝟐

𝝅
𝟑

𝝅
𝟒

𝐬𝐞𝐜𝟐 𝒚𝒅𝒚 = 

= ∫
𝒚𝟐

(𝐬𝐢𝐧𝒚 − 𝒚 𝐜𝐨𝐬𝒚)𝟐

𝝅
𝟑

𝝅
𝟒

𝒅𝒚 

= ∫
𝒚𝟐

(𝟏 + 𝒚𝟐) (
𝟏

√𝟏 + 𝒚𝟐
𝐬𝐢𝐧𝒚 −

𝒚

√𝟏 + 𝒚𝟐
𝐜𝐨𝐬 𝒚)

𝝅
𝟑

𝝅
𝟒

𝒅𝒚 = 

= ∫
𝟏 −

𝟏
𝟏 + 𝒚𝟐

(𝐜𝐨𝐬(𝐭𝐚𝐧−𝟏 𝒚) 𝐬𝐢𝐧𝒚 − 𝐬𝐢𝐧(𝐭𝐚𝐧−𝟏 𝒚) 𝐜𝐨𝐬 𝒚)𝟐

𝝅
𝟑

𝝅
𝟒

𝒅𝒚 

= ∫
𝟏

𝐬𝐢𝐧𝟐(𝒚 − 𝐭𝐚𝐧−𝟏 𝒚)

𝝅
𝟑

𝝅
𝟒

𝒅(𝒚 − 𝐭𝐚𝐧−𝟏 𝒚) = 

= ∫ 𝐜𝐬𝐜𝟐(𝒚 − 𝐭𝐚𝐧−𝟏 𝒚)

𝝅
𝟑

𝝅
𝟒

𝒅(𝒚 − 𝐭𝐚𝐧−𝟏 𝒚) = −𝐜𝐨𝐭(𝒚 − 𝐭𝐚𝐧−𝟏 𝒚)|𝝅
𝟒

𝝅
𝟑 

=
𝟏 + 𝐭𝐚𝐧 𝒚 𝐭𝐚𝐧(𝐭𝐚𝐧−𝟏 𝒚)

𝐭𝐚𝐧(𝐭𝐚𝐧−𝟏 𝒚) − 𝐭𝐚𝐧𝒚
|
𝝅
𝟒

𝝅
𝟑

=
𝟏 + 𝒚 𝐭𝐚𝐧 𝒚

𝟏 − 𝐭𝐚𝐧 𝒚
|
𝝅
𝟒

𝝅
𝟑
=

𝟏 +
𝝅

√𝟑
𝝅
𝟑 − √𝟑

−
𝟏 +

𝝅
𝟒

𝝅
𝟒 − 𝟏

= 

=
𝝅√𝟑 + 𝟑

𝝅 − 𝟑√𝟑
+
𝟒 + 𝝅

𝟒 − 𝝅
 

Solution 2 by Pham Duc Nam-Vietnam 

∫
𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝒙)

(𝒙 − 𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝒙))𝟐
𝒅𝒙 = ∫

(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙)𝟐 − (𝒙𝟐 − 𝟐𝒙𝐚𝐫𝐜𝐭𝐚𝐧(𝒙))

(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙)𝟐
𝒅𝒙 

= 𝒙 −∫
𝒙𝟐 − 𝟐𝒙𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙)𝟐
𝒅𝒙 = 𝒙 − ∫

𝒙𝟐 (𝟏 −
𝟐𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙 ) (𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙)𝟐
𝒅𝒙 



 

{
 
 

 
 𝒖 = (𝟏 −

𝟐𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙
) (𝟏 + 𝒙𝟐)

𝒅𝒗 =
𝒙𝟐

𝟏 + 𝒙𝟐
𝟏

(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙)𝟐
𝒅𝒙

⇒

{
 

 𝒅𝒖 =
𝟐(𝟏 − 𝒙𝟐)(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙)

𝒙𝟐

𝒗 =
𝟏

𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙

 

⇒ ∫
𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝒙)

(𝒙 − 𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝒙))𝟐
𝒅𝒙 = 

= 𝒙 −
𝟏

𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙
(𝟏 −

𝟐𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙
) (𝟏 + 𝒙𝟐) + 𝟐∫

𝟏 − 𝒙𝟐

𝒙𝟐
𝒅𝒙 

=
𝒙 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) + 𝟏

𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙
+ 𝑪 ⇒ ∫

𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝒙)

(𝒙 − 𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝒙))𝟐

√𝟑

𝟏

𝒅𝒙 = 

=
𝒙𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) + 𝟏

𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙
|
𝟏

√𝟑

=
𝟒 + 𝝅

𝟒 − 𝝅
−
𝝅√𝟑 + 𝟑

𝟑√𝟑 − 𝝅
 

Solution 3 by Ravi Prakash-India 

Put 𝐭𝐚𝐧−𝟏 𝒙 = 𝜽, 𝒙 = 𝐭𝐚𝐧𝜽 

𝛀 = ∫ (
𝜽

𝐭𝐚𝐧𝜽 − 𝜽
)
𝟐

𝝅
𝟑

𝝅
𝟒

𝐬𝐞𝐜𝟐 𝜽𝒅𝜽 = ∫
𝒙𝟐

(𝐬𝐢𝐧 𝒙 − 𝒙𝐜𝐨𝐬 𝒙)𝟐

𝝅
𝟑

𝝅
𝟒

𝒅𝒙 

= ∫
𝒙𝐬𝐢𝐧𝒙

(𝐬𝐢𝐧 𝒙 − 𝒙𝐜𝐨𝐬 𝒙)𝟐

𝝅
𝟑

𝝅
𝟒

⋅
𝒙

𝐬𝐢𝐧 𝒙
𝒅𝒙 

=
−𝟏

𝐬𝐢𝐧 𝒙 − 𝒙𝐜𝐨𝐬 𝒙
⋅
𝒙

𝐬𝐢𝐧𝒙
|
𝝅
𝟒

𝝅
𝟑
+∫

𝟏

𝐬𝐢𝐧𝒙 − 𝒙𝐜𝐨𝐬 𝒙

𝝅
𝟑

𝝅
𝟒

(𝐬𝐢𝐧 𝒙 −𝒙 𝐜𝐨𝐬 𝒙)𝒅𝒙

𝐬𝐢𝐧𝟐 𝒙
 

=
−𝟏

𝐬𝐢𝐧 𝒙 − 𝒙 𝐜𝐨𝐬 𝒙
⋅
𝒙

𝐬𝐢𝐧𝒙
|
𝝅
𝟑

𝝅
𝟑
− 𝐜𝐨𝐭 𝒙|𝝅

𝟒

𝝅
𝟑  

=
−𝟏

√𝟑
𝟐
−
𝝅
𝟑
⋅
𝟏
𝟐

⋅

𝝅
𝟑

√𝟑
𝟐

+
𝟏

𝟏

√𝟐
−
𝝅
𝟒 ⋅

𝟏

√𝟐

⋅

𝝅
𝟒
𝟏

√𝟐

−
𝟏

√𝟑
+ 𝟏 

=
𝟐𝝅

𝟒 − 𝝅
−

𝟒𝝅

𝟗 − √𝟑𝝅
+ 𝟏 −

𝟏

√𝟑
=
𝝅+ 𝟒

𝟒 − 𝝅
− [
𝟒𝝅√𝟑 + 𝟗 − √𝟑𝝅

√𝟑(𝟗 − √𝟑𝝅)
] 

=
𝝅 + 𝟒

𝟒 − 𝝅
−
𝟗 + 𝟑√𝟑𝝅

𝟑(𝟑√𝟑 − 𝝅)
=
𝝅 + 𝟒

𝟒 − 𝝅
−
𝟑 + √𝟑𝝅

𝟑√𝟑 − 𝝅
 

 

 



 
Solution 4 by Hikmat Mammadov-Azerbaijan 

𝛀 = ∫ (
𝐭𝐚𝐧−𝟏 𝒙

𝒙 − 𝐭𝐚𝐧−𝟏 𝒙
)

𝟐√𝟑

𝟏

𝒅𝒙 

= ∫ (𝟏 +
𝒙𝟐

(𝒙 − 𝐭𝐚𝐧−𝟏(𝒙))𝟐
−

𝟐𝒙

(𝒙 − 𝐭𝐚𝐧−𝟏(𝒙))
)

√𝟑

𝟏

𝒅𝒙 

= (√𝟑 − 𝟏) +∫
−𝒙𝟐 + 𝟐𝒙 ⋅ 𝐭𝐚𝐧−𝟏(𝒙)

(𝒙 − 𝐭𝐚𝐧−𝟏(𝒙))𝟐

√𝟑

𝟏

𝒅𝒙 ⟶
𝒔𝒂𝒚

𝑺 

Note: 
𝟏

(𝒙−𝐭𝐚𝐧−𝟏(𝒙))
= 𝒖 → 𝒖′ =

−
𝒙𝟐

𝟏+𝒙𝟐

(𝒙−𝐭𝐚𝐧−𝟏(𝒙))
𝟐 

𝑺 = (√𝟑 − 𝟏) +∫

𝒙𝟐

(𝟏 + 𝒙𝟐)

̇
(𝟏 + 𝒙𝟐) − (𝟏 + 𝒙𝟐) ⋅ (− 𝐭𝐚𝐧−𝟏(𝒙) + 𝒙)

(𝒙 − 𝐭𝐚𝐧−𝟏(𝒙))𝟐

√𝟑

𝟏

𝒅𝒙 

= (√𝟑 − 𝟏) +∫
−(𝐭𝐚𝐧−𝟏(𝒙) − 𝒙)′ ⋅ (𝟏 + 𝒙𝟐) + (𝟏 + 𝒙𝟐) ⋅ (𝐭𝐚𝐧−𝟏(𝒙) − 𝒙)

(𝒙 − 𝐭𝐚𝐧−𝟏(𝒙))

√𝟑

𝟏

𝒅𝒙 

= √𝟑 − 𝟏 + [
𝒙𝟐 + 𝟏

𝐭𝐚𝐧−𝟏(𝒙) − 𝒙
]
𝟏

√𝟑

= √𝟑 − 𝟏 +
𝟏𝟐

𝝅 − 𝟑√𝟑
−

𝟖

𝝅 − 𝟒
 

⇒ 𝛀 = √𝟑 − 𝟏 +
𝟏𝟐

𝝅 − 𝟑√𝟑
−

𝟖

𝝅 − 𝟒
 


